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GED) HEMBEERUVRTEFEHERSE HER  SMIE0TAI18E
(bTHkh) \FmE NFHAFARATHT 7 B 4
INFHRRERMEAEH

rEmmRtE FHAE—
&g & B : $FIE07TA18H
INEHRREFGEHISEFIESEFIERVE2ENEEICEY RDESYRELET, AEmFER - HFIFE07TA19H
SRE EEHh B K& EHEHE =iE g ZiE TR FEH=E
(kg) (kg) (kg)
KB L a5 10| 48t 80, 000 756 648 540 # 40, 000
AS a5 10| 48t 55, 000 2, 160 864 # 60, 000
=Ed a5 10/ 48t 350 756 540 # 300
=E3 it a4 10]  #Ext 2, 000 1,296 @) 5, 000
KZE RIh 0.2 #Ext 800 86 #H 600
INAEE a5 0.2 #Axt 400 108 43 11 #H 400
INAEE KIh 0.2 #Ext 1,750 43 #H 1,500
ErRy a5 10]  #Ext 35, 000 540 324  # 30, 000
F5hAE a5 0.2 #Ext 500 162 130 32 #H 600
= ks 5, Y 1,690 1,944 1,620 1,080 # 1,600
z KIh 5|  #E*t 1,810 1,620 @) 2, 200
=3 L AR, FKi 0.1 #8xt 1,000 76 #H 1,000
JOvyaly— AL12EF |HF 5 #Ext 1,000 792 # 500
JOyal)y— AL24F dtiE|EE 8  #E*t 2, 400 2, 851 # 2, 400
LA R a2¥F 10/ 48t 4,000 864 #H 4,000
FoT YA RIh 0.2 #+Axt 150 130 #H 150
B AS B 5, Y 500 1,620 1,296 1,080 # 500
HIE AS % 5| Xt 1,000 1,728 #H 1,000
BEI a5 10/ 48t 4,000 1,836 1,080 # 5, 000
RF R 4 fBxt 500 1, 404 H 500
< b =5 4 ) 400 1,620 1,080 324  # 1,600
E—<> 5 0.15/ ) 3, 000 119 #H 3, 000
HEE R 5| #Ext 1,000 1,728 #H 500
EHE TR 10| At 7,000 1, 404 H 10, 000
A—=04> =5 10| 48t 13, 000 1, 404 1,080 # 10, 000
XAT7H)EHE ks 10/ 48t 5, 000 1, 404 864 # 2,000
E¥ A4L, A3L =5 100 +V 10, 000 4,212 864 # 10, 000
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GED) HEMBEERUVRTEFEHERSE HER  SMIE0TAI18E
(hTH) N\FHE NFHAFARATHT 7 B 4
INFHRRERMEAEH
rEmmRtE FHAE—
#H 55 B : S¥74H07A18H
INEHRREFGEHISEFIESEFIERVE2ENEEICEY RDESYRELET, AEmFER - HFIFE07TA19H
T3 EEHh HA| RH 5t s = =1 g ZE| TR FEHE
(kg) (kg) (kg)
EHE BB, K 20  +Axt 8, 000 4,104 # 8, 000
B2 A=< b 11 Y 3, 000 2,160 # 3,000
EHE =2F 0.1 #8xt 2,000 76 A 3,000
JF4A2 A . =iH 0.1 #Ext 1,300 76 # 1,000
JFHIAL A E¥%. = 0.1 = 30 70 # 30
HEAE 209, 380




